() DEWEIER

# B DR RFSiRness &k

CEEEI=E
P 2 @ RV ER K
SEAVUEEE @M N R
R AE H LA
SRR BT, B E,;

oo 0 0

R

i =i B e i =i % i R

R0O10 50Bar 3000 10Bar 1500

R0O15 50Bar 2800 10Bar 1400

R020 50Bar 2500 10Bar 1200

R025 50Bar 2300 10Bar 1100

R032 40Bar 2000 8Bar 1000

R040 35Bar 1800 8Bar 800

R0O50 35Bar 1500 8Bar 700
< . >
N H1 o

J1 o L A

A A
os]

-

\ 4

25 NS
-

o

-
i

\

>
>

K
A

|

|

|

I

|

I

|

|

i

|

0110
C

K
A

|

|

I
S

N

Folow_ \X M Eala s b\ M \E

»|
B

A A

\ 4

v

B P R AR

i %8 S
XLa) Py XS] N e

G3/8"-RH Re3/8" DR10-1801-03R | DR10-1821-03R DR10-1831-03R Ret/4

RO10 10 50 80 12 | 34 97 109 98 125 M5 68 Méx1 6 22 16 13 M6x6 19
G3/8"-LH DR10-1801-04L DR10-1821-04L DR10-1831-04L
G1/2"-RH Re1/2" DR15-1801-03R DR15-1821-03R DR15-1831-03R Re3/8

R015 13 | 56 90 15 | 40 | 110 | 120 | 110 | 142 M6 77 Rc1/8 10 23 17 14 M10x5 24
G1/2"-LH DR15-1801-04L DR15-1821-04L DR15-1831-04L
G3/4"-RH Re3/4” DR20-1801-03R DR20-1821-03R DR20-1831-03R Re1/2

R020 16 | 67 106 17 | 49 | 131 144 | 132 | 170 M8 89 Rc1/4 13 27,5 19 16 8,7x5 30
G3/4"-LH DR20-1801-04L DR20-1821-04L DR20-1831-04L
G1"-RH Ret” DR25-1801-03R DR25-1821-03R DR25-1831-03R Ret/2

R025 25 | 82 120 19 | 55 | 149 | 163 | 150 | 192 M8 99 | Rpc3/8 16 35 22 19 8,7x5 36
G1"-LH DR25-1801-04L DR25-1821-04L DR25-1831-04L
G1-14"-RH | o1 e DR32-1801-03R DR32-1821-03R | DR32-1831-03R Re3/a

R032 32 | 93 135 | 22 | 67 | 172 | 188 | 173 | 221 | M10 | 112 | Rc1/2 22 39 24 23 8,7x5 46
G1-1/4"-LH DR32-1801-04L DR32-1821-04L DR32-1831-04L
G1-1/2"-RH | o4 4 DR40-1801-03R DR40-1821-03R DR40-1831-03R Re3/4

R040 38 | 108 | 146 | 23 | 75 | 189 | 209 | 190 | 241 | M10 | 120 | Rc3/4 26 44 29 24 10x5 55
G1-1/2"-LH DR40-1801-04L DR40-1821-04L DR40-1831-04L
G2"-RH Rc2” DR50-1801-03R DR50-1821-03R DR50-1831-03R Re1-1/4

R050 48 | 120 | 154 | 26 | 93 | 205 | 222 | 203 | 277 | M10 | 125 Rei 32 50 36 24 12x5 60
G2"-LH DR50-1801-04L DR50-1821-04L DR50-1831-04L

i: http://www.sddeweier.com




() DEWEIER
= B

ITixy

S
j N

DRH R %ISR =iE hedE ik

P
o PHrXE L @ AR A&
o SEAEIEE @AM kR E
® HEEHEAT
o ARXTTEEATYEE, HHEE;
ERBEE: -30C ~+180C
BAMNER: #Kk, SHHE
DRH R %I SiE = im e sk
%m *% @A\\\
It i & ¢ e T
DRHO010 25Bar 3000
DRHO015 25Bar 2800
DRH020 25Bar 2500
DRH025 25Bar 2300
DRH032 25Bar 2000
DRH040 16Bar 1800
DRHO050 16Bar 1500
< = >
N H1 o
s J1 X L R i
< B » Q Q
N Y " ¥ ;
KE-/H/ A 4 L O =21 i
i | ral ) iay [ ran
A W > | 1 V
7y =
2
=
w| < S — SRS ——{I: ‘O x| < — o / v ‘O
i
Y [ ] S
A > 7 [ >
>t ® IZ‘} 7 /j v
2K v RS , \ v
I s 3 v 27 2A| \ Y
< Fale W M _F LW M \E
> = R g D | G |

»
il 8 S
K
RHO10 G3/8"-RH DRH10-1801-03R DRH10-1821-03R DRH10-1831-03R Rc
Rc3/8 10 50 80 12 34 97 109 98 125 M5 68 M6x1 6 22 16 13 M6x6 19
G3/8"-LH DRH10-1801-04L DRH10-1821-04L DRH10-1831-04L 1/4
RHO15 G1/2"-RH DRH15-1801-03R DRH15-1821-03R DRH15-1831-03R Rc
Rc1/2 13 56 90 15 40 110 120 110 142 M6 77 Rc1/8 10 23 17 14 M10x5 24
G1/2"-LH DRH15-1801-04L DRH15-1821-04L DRH15-1831-04L 3/8
RH020 G3/4"-RH DRH20-1801-03R DRH20-1821-03R DRH20-1831-03R Rec
Rc3/4 16 67 106 17 49 131 144 132 170 M8 89 Rc1/4 13 27,5 19 16 8,7x5 30
G3/4"-LH DRH20-1801-04L DRH20-1821-04L DRH20-1831-04L 12
RHO25 G1”-RH DRH25-1801-03R DRH25-1821-03R DRH25-1831-03R Rc
Rc1 25 82 120 19 55 149 163 150 192 M8 99 Rpc3/8 16 85) 22 19 8,7x5 36
G1’-LH DRH25-1801-04L DRH25-1821-04L DRH25-1831-04L 12
RH032 G1-1/4"-RH DRH32-1801-03R DRH32-1821-03R DR32-1831-03R Rc
Rc1-1/4 32 93 135 22 67 172 188 173 221 M10 112 Rc1/2 22 39 24 23 8,7x5 46
G1-1/4"-LH DRH32-1801-04L DRH32-1821-04L DRH32-1831-04L 3/4
RH040 G1-1/2"-RH DRH40-1801-03R DRH40-1821-03R DRH40-1831-03R Rc
Rc1-1/2 38 108 146 23 75 189 209 190 241 M10 120 Rc 3/4 26 44 29 24 10x5 55
G1-1/2"-LH DRH40-1801-04L DRH40-1821-04L DRH40-1831-04L 3/4
RHO50 G2"-RH DRH50-1801-03R DRH50-1821-03R DRH50-1831-03R Rc
Rc2 48 120 154 26 93 205 222 203 277 M10 125 Rc1 32 50 36 24 12x5 60
G2'-LH DRH50-1801-04L DRH50-1821-04L DRH50-1831-04L 1-1/4

http://www.sddeweier.com




() DEWEIER

DRH %751

SR SR hEEE &Sk

BERE/ARRR MERRA KAREIE

Customer/Company Contact person Phone
itk ] £ B
Address Email Fax

SRS/ Technical parameters

AR
Application
TIENR ey . ) - . HE GEik)
nﬁgdm O 75 Steam | O 7k Water O S#i Hot oil O Eg=S Air both*:rl‘
THERE . THEER TiEsR
Temperature C Pressure Mpa Speed RPM Channel number
BEAX " , brim Pt B O A&
Rotor Connection O #=Flange | O 424 Thread Inlet Outlet
HEEX
other
B B RS %/ Technical parameters
BigER TiEfR FRRE (R-&X) ;
Protection class e Speed —RPM Ambient Temperature(Min-Max) c ~
ZERT RAME w®/IAR RABK
Installation dimension Max.outer ¢ mm Min.inner ¢ mm Max.Length mm
A BB H - BE (V) RAG) kS
Group Number of ways Fi&/Use Voltage Current Frequency
Fkith/PE
A
B
C
D

2 HYE K /Customer requirements

T # =/ Quant ity

% %5 F#A/Delivery date

HTEXK/EE/ Special features/Sketch

i: http://www.sddeweier.com




() DEWEIER

8 B iE DRH R %ISR =iE hedE ik

Rotary joint RESLLE

Notes:

%ﬁ%lﬂf—:‘\ Address E%g

|:I:| China H[E E-‘

REM /260127 R ARAT
Tel : +86 632 5822778 #ZEH15: 156-0637-0700
Fax © +86 632 5601281 Sddeweier88@163.com

N1

www.sddeweier.com

T 2 WA B http://www.sddeweier.com






